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™)
utop # let curry = (fun f — (fun x — (fun y — (f (x, ¥)))));;
val curry : = <fun>

Q)
utop # let third = (fun (x,y,z)—>z);;

(b))
utop # (third (third, third, third))(third, third, 3);;

@)
utop # third 3;;

()]

utop # third (1, 2, third)(third, third, third)(1,2,3);;




let

let

let

let
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rec fold right = fun f 1 init —> match 1 with

[ — init
| h::t — f h (fold right f t init);;

init

maxi

fun ell —> fold right f ell init;;

NPIND DMIAPN D901 SV MY NIAPNY TPNPND 7PNN mazi-¥ T init-1 f OW IMTIND IR MWOUN (N)
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type tree = Nil | N of treextree;;
let rec ni t = match t with | Nil — 1 | N(t1, t2) — (ni t1) + (ni t2) ;;
let rec no t = match t with | Nil — 0 | N(t1, t2) — (no tl1) + (no t2) + 1;;

ni(€) = no(f) + 13 MNPYTYNI IO
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(AL ((Ag-((f 1) 9)) (Ah- (K h)))) (A (Ay-y)))




F (Az : Bool.if xthentrueelsex) true : Bool :NDAVNN 9921 WY > DY MPIIN N)

x: Bool,y: Bool, f: T+ (fx)y: Bool-¥ 72 T W81 ()
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,c,d],X).

?7— dupli([a,b,
c,c,c,c,d,d]

a,b,c
X = Ja,a,b,b,c,c

)
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let cache = [];

cache[1] =

function memoizeSum(n) {

if (cache[n]) {

1 oelse {
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